LABJNDu4 standard lightnessL*

L* YocsL*w - nc=100,

L* L aganpua=[IN[A 1n+A2nV)/(A 2rA0n)] (Yac/100<Y<=Yso)
L*\(3,6)=522 L% ,(18)=1187 L * y(90)=1847

Iog[L* L*

L*9=1847,21, A ¢=0,42
L*1g=1186,52, Ay | uoo7 Az"_

0,0
L*5=521,84%% L 186,52 =18 appllcaﬂon
1

I 100y
86 1 Yg=90

LABJINDu4
tristimulus value difference
YacmL*w  nc=100,
L* LaBanDua=[IN[(A 1r+A2a)I(A 2nA0n)] (Yad/ 100<Y<=Y,0)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon, Deb‘l 5, Aon,a=1,0, see CIE 230:2019
dYg=0,22, Ay=1,000, =0,42
dY;=0,05, A =0, 007 Agn 0,0024
dY; 60,01, Y,=18, dY,=0,05

application
Iog(dY)=0,05 m,= 0,85 range

A~ 1Y,=18

log AY/Y)

YN=3.6  Yy=90

LABJINDu4
_ tristimulus value sensitivity
SHEYY Yoc=L*w - nc=100,

L* Laganpua=[IN[(A 1n+A2nV)I/(A 20A0n)] (Yac/100<Y<=Y,o)
AYIY=Agr A1 Az Y

(dY/Y}g=0,0025, Ay=1
(dY/Y)=0,0028, A =0 ,Ag 0, 00024
(dY/Y}6=0,0044 Yu=1& dY=0,05

application
range

log(dY/Y)=—2,54 m==0,5.~ ~ _ .
L* ;=1187, dY,=0,05 dY,/Y,, ooozey iy !

log (Y/AY)

YNT36 | Yw=90

LABJINDu4

- tristimulus value contrast
C,=(Y/AY) Yol w - ne=100,

L* Laganpua=[N[(A 1n+A2nV)I/(A 20A0n)] (Yac/100<Y<=Y,o)
YIAY=YIA on(AntAznY)]

(Y/dYy=397,56, A,=1,000, ¢=0,42
(Y/dY§8=353,02, A=0,007, A,=0,0024

R e e LA

log(Y/dY)=2,54 m=0,13 - = = ~

application
range

Y,=18

YN=36 "} Yy=90

L¥/L* LABJNDu4 relative standard lightnessL*/L* ,

LHIL* YocmL*w - nc=100,
L* Laganpua=[IN[(A 1n+A2nY)J/(A 2rAon)] (Yae/100<Y<=Yye)
L* \(3,6)=522,L* ,(18)=1187 *\,,(90)=1847

t*goll_* 155, Ay=1,000, =042

L*=1,00, A,=0,007, A,,=0,0024
L¥3,dL¥,=0,43,L%; =1186 52Y=18

log[L*/L* ;]=0, m,=0,33

application
range

Iog(AY/AY )

log [AYY) I (AYIY),]

Y,=18
TINA=86 " Yy=90

LABJNDuA4 relative
tristimulus value difference
Yoe=L*w ~ ne=100,
L* L aanpua=[IN[(A 10+ A2n)I(A 2nA0n)] (Yn/100<Y<=Y,0)
AY/dY,=AgnA 11+AanYY/dY,
dYeo/dY,=4,43, Ay=1,000, ¢=0,4

Y g/dY,= ooo7xs2 ,o
dY3 ¢dY,=0,31 Y,£18, dY=0,05

AY/AY,

L*,=1187 dY,=0,05 dY,/Y,=0 0028 -
)

application
range

1v,=18
YN=36  Yw=90

LABJINDuA relative
tistimulus value sensitivity

SSu=@YMIBYN)y . =\, - =100,

L* Laganpua=[IN[(A 1n+A2nV)J(A 2nA0n)] (Yae/100<Y<=Yy)

@YIYYAYY,=(AgitAg Y)Y (AYIYY]
(dY/Yhg/(dY/Y)=0,88, Ay=1,000, ¢=0,42
(AY/Y)(dYIY)=1,00, Ar=0.007. A,=0,0024
(AYIYhg(dY/Y 3=1,56 Y218, dY=0.05

log[(dY/Y)(dY/Y)]=0, m;=-0,13 1

L* =1187, dY,=0,05 dY,/Y,=0,002B ?apr%iga“o”

1y,=18

log [(Y/AY) I (YAY),]

YN=3.6 | Yw=90

LABJINDu4 relative

tistimulus value contrast
CrlCru=(YIB(YIAY)y Y 21y =100,

L* L aanDua=[IN[(A 1n+A2n)I/(A 2nA0n)] (Yn/100<Y<=Y,0)

(YVIAYY(YIAY), =Y IYIAY Y )TA onAqrAgr VI (Y/AY),
(YIdYg/(Y/dY)=1,12, Ay=1,000, ¢=0,42
(Y/dY)g/(Y/dY)=L.00, An=0.007, A=0,0024
(Y/dY%d(Y/dY =0,64 Y, 218, dY=0.05

L* =187, dY,=0,05 Y,J0¥~353 1 —
v o 1 application
1 range
1y,=18

YN=3.6  Yw=90




